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NoT.-Only 9 que.tions are to bc at-
temptcd. A maximum of 5 marks may bc
allowed for neatncss.

i. Simpbfy à - & of i + 7 and find how
many times the result is contained in i +

(?of r"r - h). !r r.]-
2. Divide the product of -037 and -ooz5

by the sum of '9, .02 and 'oo5. [1 i.)

3. If a road is four rods wide how many
miles of it will make ten acrcs ? [us.

4. A lot 150 f'et long and soo fcet wide
is to be surrounded by a close board fence 6
feet high ; what will the boards' cost at
$12.50 per thousand feet? [i i.

5. A farmer bought a number of horses
and cows for .D2,-oo. There were three

times as .any cou s as horses and a horse
cost twice as much is a cow. If each horse
cost $8o, how i..ay cows did he buy. [il.]

6. A man has a salary of $400 a ycar and
has $50o in the bank. If he spends $5oo a
year. in what time will his money be all
gone ? [xi.]

7. What will a dollar amount to in 3
years 219 days at 7j per cent. per annum ?

8. A man borrows $9oo, for the use of
which he has to pay $3 a ronth ; how long
will he have had it when the interest is 5oc.
on every dollar borrowed ?

9. A dealer sold an article for $8. to and
lost to per cent. ; at what selling price
would he have gained to per cent.? [12.]

ro. How can you tel], without actually
di7iding, whether a number can be divided
by 9 without leaving a remainder ? [12.]

Il. If a cow gives 12 qts. i pt. of milk
ever" day, and i lb. 8 oz. of butter can be
made from 25 qts. of milk, how many lbs.
of butter can be made in one week from the
milk of 16 cow. ? [12.]

12. A man bought a quantity of tea sup-
posed to be done up in packages of r lb. each,

for which he was to pay $64 ; on weighing
them, however, it was found that each pack-
agc was t oz. too light--how much should
he pay for the tea ? 112.1

1.iTTRATUrR K.

NoT.-Ail candidates must take section
A. A choice is allowed bctween sections B.
and C., but candidates must confinc thcm.
selvcs to thc section thcy choose.

A maximum of fivc marks may be addcd
for ncatncss.

A.

Scroogc was briter than his word.
May that be truly said of us, and all of us!

t. Explain concisely the mcaning of the
italicized portions of the passage. [24.1

2. low had Scrooge been in the habit of
trcating Bob Cratchit ? Refer to incidents
mcntioned in the previous part of the lesson
in support of your answer. [5.J

3. "f e kncw how to keep Christmas
wcll." What was his method of keeping
Christmas ? [5.

4. What is the derivation of the word
Christmas ? What sort of feeling should the
,.nason inspire? Why ? (6.]

5. How docs Addison, in the Vision of
Mirza, represent (a) the duration of human
life, and (b) its cares and passions? [so.

B.

"I long wooed your daughter

Our fair cousin with young Lochinvar."

6. Explain concisely the -..eaning of the
italicized portions of the passage. [24.)

7. (a) " Love swells like the Solway, but
ebbs like its tide.' What object has
Lochinvar in making this statement ? [3-

(b) " With a smile on ber lips and a tear in
hereye." Account for the smile and the trar.

[4.)
(c) " While her mother did fret and ber

father did fume." Would the sentiment be
as natural if Scott had written, " While ber
father did fret and her mother did fume '?
Give a reason for your answer. [5.]

(d) Account for the opinion of the bride.
maidens, "'Twere better, etc." [4.1 .

(e) Point out the emphatic words in lines


